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Precalculus 

1-08 Combinations of Functions 

Combining Functions 

• Add   (𝑓 + 𝑔)(𝑥) = 𝑓(𝑥) + 𝑔(𝑥) 

• Subtract  (𝑓 − 𝑔)(𝑥) = 𝑓(𝑥) − 𝑔(𝑥) 

• Multiply   (𝑓𝑔)(𝑥) = 𝑓(𝑥)𝑔(𝑥) 

• Divide   (
𝑓

𝑔
) (𝑥) =

𝑓(𝑥)

𝑔(𝑥)
  

If 𝑓(𝑥) = 𝑥 + 2 and 𝑔(𝑥) = 𝑥 − 2, find 

(𝑓 + 𝑔)(𝑥)       (𝑓 − 𝑔)(𝑥) 

 

 

 

(𝑓𝑔)(𝑥)       (
𝑓

𝑔
) (𝑥) 

 

 

 

Composition 

• (𝑓 ∘ 𝑔)(𝑥) = 𝑓(𝑔(𝑥)) 

• ______________________g into f 

If 𝑓(𝑥) = 𝑥2 and 𝑔(𝑥) = 𝑥 − 1, find 

f ∘ g       g ∘ f  

 

 

 

• Domain of (𝑓 ∘ 𝑔) is all x in domain of _________________such that ______________________ is in the domain of __________________. 

• x → g → f 

If 𝑓(𝑥) = √𝑥 and 𝑔(𝑥) =
1

𝑥
, find the domain of f ∘ g 

 

 

 

 

 

Decompose 

• Find 𝑓(𝑥) and 𝑔(𝑥) so that (𝑓 ∘ 𝑔)(𝑥) = ℎ(𝑥) 

• Pick a portion to be g(x), then replace that with x to get f(x) 

Decompose ℎ(𝑥) = 2|𝑥 + 3|     Decompose ℎ(𝑥) = √
8−𝑥
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